PART DESCRIPTION REMARKS RETAIL CLA
NO. USD DISCOUNT
912UL | 912UL 80hp ENGINE iniﬁ?eodFs'ﬁE;;fg $14,871.00| CALL
. " ,I,I "
912ULS | 912ULS 100hp ENGINE | _ $200 Flat-rate $17,747.00| CALL
insured shipping. W
912iS | 912iS 100hp ENGINE iniﬁ?eodFs'ﬁE;;fg $21,236.00| CALL
(Fuel injected) ' W
914UL | 914UL 115hp ENGINE iniﬁ?gdiﬁ};;fg $28,469.00| CALL
(Turbocharged) ' W
227 055 | SHIM 8.2x1.5 (for oil pressure) $0.66 CALL
241 785 | MAGNETIC DRAIN $55.08| CALL
PLUG M12x1.5
250 010 | GASKET RING (for oil tank) $1.71| CALL
C12x18
256 035 | AIR VENT LINE HOSE (5 yr. Rubber $3.30| CALL
120mm replacement)
261 708 | FLOAT NEEDLE $39.95| CALL
VALVE W. VITON TIP
265 248 | SPARK PLUG (5 yr. Rubber $29.95| CALL
CONNECTOR replacement)
/| 267 789 | RUBBER FLANGE (5 yr. Rubber $105.40| CALL
replacement)
4| 293 152 | ELECTRIC STARTER Standard 914 $752.30| CALL
ASSY.
295 410 | SERVO MOTOR $47751| CALL
%b 456 180 | OIL PRESSURE (new replacement $249.84| CALL
SENSOR M10x1 for Honeywell type)




660 771 | RUBBER BUFFER $27.78 CALL
10x15xM4
#5205 016 | OIL FILTER 10x @ $15.71 $19.36 CALL
830 728 | GASKET, FLOAT $15.98 CALL
BOWL
838 122 | COMPRESSION (for oil pressure) $8.18 CALL
SPRING L39.5
840 740 | NIPPLE 7/3.8 Fuel pump fitting for $14.96 CALL
1/4” D tank line
850 965 | OIL SEAL 32x52x7 $108.12 CALL
851 645 | SPRING TYPE CLAMP (5 yr. Rubber $7.14 CALL
replacement)
852 405 | SPRAG CLUTCH $270.59 CALL
HOUSING
~| 860 660 | HOSE 4x7 (per meter) | 914 carb vent to $88.17 CALL
airbox
860 710 | RUBBER BUFFER (5 yr. Rubber $34.41 CALL
25%20XmM6 replacement)
860 826 | RUBBER PLATE (5 yr. Rubber $11.91 CALL
replacement)
860 984 | AIR INTAKE HOSE (5 yr. Rubber $56.53 CALL
(turbo to airbox) replacement)
860 985 | HOSE 4x7 (per meter) (5 yr. Rubber $10.85 CALL
replacement)
861 116 | DIAPHRAGM (5 yr. Rubber $95.00 CALL
replacement)
861 188 | FLOATSs (Pair) $100.47 CALL




- B e
10
AT €

W 1861 640 | BENT TUBE ASSY. $43.16 CALL
tho?o 864 250 | Wire Ass’y Oil Pressure (required with $109.92 CALL
@ 865 710 | IGNITION CABLE 7mm $35.37 CALL
(per meter)
ﬁ 881 360 | FUEL PUMP SET (5 yr. Rubber $173.00 CALL
-+ (replaces 893110, 893115) replacement)
O i, 887 254 | ALTERNATOR SET (limited supply) $1,690.12 | 1,056.87
pﬁfm 889 536 | CARB OVERHAUL KIT $325.99 CALL
(for one carb only)
892 520 | C.D. CARB 914 1/3 $1,426.96 CALL
892 525 | C.D. CARB 914 2/4 $1,523.61 CALL
892 530 | C.D. CARB 912 1/3 $1,026.77 CALL
892 535 | C.D. CARB 912 2/4 $1,026.77 CALL
897 941 | CABLE BOWDEN $77.53 CALL
ASSY.
922 070 | RADIATOR CAP New 1.2 bar cap $69.95| CALL
with gasket
922 192 | WATER TUBE 90 DEG (5 yr. Rubber $52.93 CALL
17 mm ID replacement)
922 250 | WATER TUBE 17/100 (5 yr. Rubber $39.95 CALL
(per meter) replacement)
922 665 | EXPANSION TANK $351.21 CALL
ASSY




i 5| 938 287 | RETURN SPRING, $12.44| CALL
CHOKE
\Ws 938 289 | RETURN SPRING, $14.26| CALL
THROTTLE
\wft:;;@f' 940 558 | HOSE NIPPLE M6 $16.70| CALL
Erpes | 940873 | BANJO BOLT (914 oil pump) $16.26 | CALL
M10x1x30
940 879 | BANJO BOLT (for crankcase) $23.94 CALL
M16x1.5x28
956 314 | HOSE NIPPLE 10 $23.81| CALL
958 856 | SPRAG CLUTCH $361.07| CALL
51.710x68.377x13
960 060 | RUBBER BUFFER (5 yr. Rubber $28.81| CALL
25x15xm6 replacement)
961 215 | JET NEEDLE $16.34| CALL
965 349 | RECTIFIER $175.56 | CALL
REGULATOR
(also 965446
965 444 | ADVANCED START 4-Pin modules. $931.12| CALL
MODULE (ASM) 6+6+1 | Same price)
\’ﬁ{f 965 531 | TEMPERATURE $195.25| CALL
SENSOR M10x1.5
Q 966 741 | TURBO CONTROL (imited supply) | $2,824.79| CALL
UNIT TLR 4.6
@ 966 872 | FLYWHEEL HUB Retarded for $357.05| CALL
“soft start” ignition
/{« 996 738 | 914 FUEL PUMP $356.23| CALL




996 947 | CARB GASKET SET $109.90 CALL
(two carbs)

. Incl. AS trigger
@ ASKIT | ADVANCED START Kit | Hub, 2 x 6-pin $4,880.00 | $3,300.00

(4-Pin to 6-Pin etc.) AS Modules
| BHEXH | 914 EXHAUST KIT (limited supply) $4,585.47 CALL

(latest Rotax updates)

PJA-08 | FIRE SLEEVE 1/2" ID $7.95 CALL
(per foot)

PJA-10 | FIRE SLEEVE 5/8" ID $8.50 CALL
(per foot)

PJA-12 | FIRE SLEEVE 7/8" ID $12.50 CALL
(per foot)

RU0870 | 914 AIR FILTER 3” $41.95 CALL
62mm offset flange

SHC HEAT COMPOUND (from 897 186) $6.22 CALL
(Wacker P-12, 6 gm)

SP2704 | 912 Air Filter $34.95 CALL

DISCOUNT PRICING FOR OUR STS KIT BUILDERS PRICING SUBJECT TO CHANGE WITHOUT NOTICE

Canadian ngﬁtﬂmp/ii&ans Bus: 705 481-1817 Cell: 705 279-5243 email: SeareyCanada@gmail.com



